
Name ________________ _ 

AP Calculus AB/BC 

Su1n1ner Assignment 

This assigmnent is due August 25, 2025 

Show your work in the space provided. Transfer your 
solutions to the answer sheet located at the end of the 
packet. 

Calculator: A graphing calculator is a requirement for taking AP Calculus. 

Most students use a T 1-84 Plus or a T 1-86. A T 1-89 is desirable but costs 

more. A T 1-92 is not pern1itted. 

Be able to do the following on your calculator: 

• Graph a function using an appropriate window

• Use the trace key to find the value of a function at a point

• Find the zeros of a function

• Find the coordinates of the point(s) of intersection of two functions

• Use the equation solver







Summer Calculus Revie,v 

10. If J(x) = ,1;2 - 2 and g(x) = /x + 1, find a) f(g(x)) and b) go .f.

11. For the following rational functions, determine the :r;- and y-intercepts and all asymptotes.
Sketch the graphs on the answer sheet.

a) 
3 

J(x) 
= 2 2X -X -

b) ( )
4x2 - 7::r; - 2 

g X = 
? 

x- - l

12. Determine the equations of the following lines:

a) the line through (-1, 3) and (2, -4).

b) the line through (2, 3) and the midpoint of the segment from (-1, 4) to (3, 2).

13. Find the equation of the circle \\·ith center (1, -2) and passing through (-3, 1).

14. Complete the square to \\-rite t.be equations of the parabolas in standard form.

a) y = x2 
+ 4-x + 3 b) 9y2 - x - Gy - 9 = 0
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Summer CalcuJus Review 

22. Solve for x where O :s; x < 2Tt.

a) cosx • tanx - cosx = 0

b) 3sin2 x = cos2 x

c) tan x + sec x = 2 • cos x

23. Vv'ithout using a calculator, sketch the graphs of these functions:

a) sin(x-f)

24. Complete each identity:

a) sin2 x + cos2 x =

b) sin 20 =

c) cos20 =

b) 3sinx

\Vrit.e as a single equation in terms of x and y. 

a) x=t+l 

y = t2 
- t.

b) 

c) cos.:£2 

x = sin t

y =cost 

AB CALCULUS STUDENTS SHOULD STOP HERE. 
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d) tanx + 4



Summer Calculus Review 

26. Find

a) 

b) 

. J(x+h)-f(x) Jim 
h h-0 

J(x)=2x+3 

J 
f(x) = -·

:r: + l 

c) J(:r;)=x2 

27. If Jim f(x) = 5 ...
x--, 1 

for: 

a) must f(x) be defined at x = l?

b) If f(x) is defined at .1: = l, must f(l) = 5?

c) Can we conclude anything about the value off at x = 1? Explain.

28. Evaluate:

a) 

b) 

x4 - 1 
Jim 
x�l x2 - 1 

x-i
Jim 
x�l /x + 3 - 2 
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